R:\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-9231 - Swinging Ext Doors - Rediframe PD\C - Drawings\FL 9231 (2020)\FL-9231.5.dwg, FI-9231.5

i 77
\\\\\\\ fu [¢,/,,,
SLTT R
s § i ..;6{; §
- d=> =
N sxid 5, [863m3
E oiﬁ = * E g.' 5 = TN
™ =3 2 [|BEQs, 2
CORPORATION 25 SRS28a0
’ ® e, ._,." S E LT I
’, *s \\ JD0o
868 MURRAY ROAD, DOTHAN, AL 36303 40" MAX. “ W PR 3762
FRAME WIDTH T AN o g0
a ON - 0
slz 2 2528
SIS Eo £
" 1 ﬁ\ <8 (‘ngg g g8 E
REDIFRAME PD 0% adat
JHEE RS
HOLLOW METAL FRAME hi @
“18 3o
INSWING/OUTSWING = {2
"IMPACT"
o
T = %) %
X -
o s [E®
: O AR
E o % Ly &
GENERAL NOTES 3 o % ng@
in 3 E| ~o
This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building % & % =
Code (FBC) structural requirements including the "High Velocity Hurricane Zone" (HVHZ). .
m
Product anchors shall be as listed and spaced as shown on details. Anchor embedment to base
material shall be beyond wall dressing or stucco.
When used in the "HVHZ", this product complies with Section 1626 of the Florida Building Code and
does not require an impact resistant covering. n
i
o
Site conditions that deviate from the details of this drawing require further engineering analysis by a %)
licensed engineer or registered architect. g
This product does not meet the water infiltration requirements for the "HVHZ" and shall be installed
only in non-habitable areas or at habitable locations protected by an overhang or canopy such
that the angle between the edge of canopy or overhang to sill is less than 45 degrees.
When used in the "HVHZ", steel must be protected as specified in FBC Section 2222.6 L,:_(J
(]
TABLE OF CONTENTS MAX. DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) 5
SHEET # | DESCRIPTION OVERALL INSWING OUTSWING =
1 | Typical elevations, design pressures, & general nofes DIMENSION | POSITIVE | NEGATIVE | POSITIVE |NEGATIVE baTe: 10/13/20
2 Door panel details SCALE:  N.T.S.
3 Door panel details 40.0" X 86.25" +65.0 -65.0 +65.0 -65.0 OWG. BY:  RW
4 Elevations & vertical cross sections CHK. BY: LFS
5 Horizontal cross sections DRAWING NO.:
g Frame anchoring st s

Bill of materials & components

SHEET 1 oF 7

© 2020 R.W. BUILDING CONSULTANTS INC.



113"

S araTaraTeraTeterare
020202620 %% 2%

820202020 % %0 %0 2e e
920%0 %0 %% % 20 e
020%0 2020 %0262 %
9020202020 %0 %0 %0 el
agegegegese0edetetess
aSeledesetegegecesels!

@ WOOD STILE

REINFORCEMENT

m HORIZONTAL CROSS SECTION

4"

I—————»—-I.B"

—

WOOD LOCK BLOCK WOOD STILE
(4" WIDE X 11.88" LONG) REINFORCEMENT

\2/

35.75" MAX.
PANEL WIDTH

83.25" MAX, PANEL HEIGHT

1 l
d

40 7'-0" STEEL DOOR PANEL
JELD-WEN

DOOR SKIN: 0.022" MIN. THK. GALV. STEEL {Fy = 31,300 PSI MIN.)
FOAM CORE: POLYSTYRENE

l—-—— 1.73" ——>}

1.23"

/

—1.24"

i

~=— 028"

-

STILE & RAIL
Steel

.— 173" —]

ﬁ
[—=— 0.028"

i

. BOTTOM RAIL
Steel

1.75" —=

FOAM CORE

EXTERIOR

November 4, 2020
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.0. Box 230, Valrico, FL. 33585
813.659.9197

Phone No.:

DOOR
PANEL DETAILS

DUNBARTON
PART OR_ASSEMBLY:

PRODUCT:

BY

STEEL DOOR SKIN 7

7“2\ VERTICAL CROSS SECTION

NOJ DATE

oATE: 10,/13,/20

scale: - N.T.S.

DWG. BY: RW

CHK. BY: LFS

\2/

DRAWING NO.:
FL—9231.5

SHEET 2 oF 7

RAClients\Dunbarton Permanent\A - Florida Product Approvais\FL-9231 - Swinging Ext Doors - Rediframe PD\C - Drawings\FL 9231 (2020)\FL-9231.5.dwg, 2.3

FBPE Registry No, 9813

REVISIONS

© 2020 R.W. BUILDING DCONSULTANTS INC.



CON] SBLNVAINSNGOD 9NIang

‘Md gzoaz o

€186 'ON Ansibey Idad SNOISIAFY
L616°6G9°C1L8 ON suoud Sividg 1aNvd g EILCTON] F<I B N PR RN
GBGES 14 ‘OOUIDA ‘0£Z Xog ‘O'd \§ Jlv W Ll =1
‘A SLNVLINSNOO ONIaTing gﬂ INTEW3SSY d0 Lavd DI T RS
\W -~\ |z o
SN\B WNO/L, S LIE2 M
//104@.....:... 897, 60¥SH “ON ‘I'd NOLYVENNG 2| & slg O
S .....AoEof.....&\\\\ IPILYDS "4 uopukq i w $l¥|3 L
I~y & JORLVIS f.... :Ag peupdedd sjuewinoog 11 0Na0¥d HEIRBRG &
m : Y 0Z0C ‘7 18GUISAON |
¥ ¥ ¥
F . 60VEPON ¢
L . . ~
R WO
\\\\&Qﬂ\oc...no...tﬂ%}/’/
“s, WHOS 316.
Hipgpaw
m~ z
= o
280 L —{ .80 ~At G
prr]
(71
(7]
7 T //W* P
. v R
S~ B O
d ._.A/M 3
e O -
o O \ / m
oz >
m F3 z M
= m o W mMu
S w Q = O
Q@ Q ol
—
&
=
—-— :WN._. -
|
—— . |
N
3
22
~_59
£ QO o
ol =
> &
arx
o=
O
=
=
(o]
=
O
iy
(721
(7]
[ 7]
| o
[
Q Q O
oc m M
g .
0
N STTY —_
m m.m m
n e M
= P _ z
— o,
mw % ol @ g S
< &
po 3
. T o i
20 9 =
2= — TS & o w
== o m
< 2 e 58
0 < t |0 cQ
o Z QB ity
= ~NiZ < Z
] G M
& < ¥
O E
o2 = . D
o« £
& < =0
RY) N o
& o 23
w w <
m - IHOEH 13NVd XYW .5T°¢8 o
m N e
&<
3
oL uy
O x
Q
23

£'c 'BMps L £26-14\0202) LE26 T4\sBumeIq - D\Qd sweipay - 51000 1x3 BulBUIMS - | £26-Td\s|erciddy 19npolg BpLOlS - Y\IUSUBWLIAG UOLIEGUN\SIUBID\Y




CON| SANVLIINSNOZG aNIGUng

‘MY 0202 §

INTERIOR

O

4

LOCK HARDWARE

LATCH:

SCHLAGE (J10SOL)

DEADBOLT:

KWIKSET SIGNATURE SERIES (780)

€186 ON Ansiboy 3dad SNOISIATY
LBL6'6S9°CL8 "ON euoyd SNOLLO3S  SSO49 X8 3Iva_JON| o ~
sesce 4 “asion o5z o8 03 ] WOLLY3A % NOLYATTS Slulzle] 2N
B} SLNVLINSNOD ONIGTINg \&v AIAWISSY J0 Luvd 20} Kt Bl e MR
e, NS $ o
l//%)(ZO\Q\\\ . — (@) . | 4_
NN T S 80¥E€y "ON ‘I'd NOLYVENNJ - & &8
S ) NOROTy R IPILYOS *4 LOPUAT] alG9ls BB
W%... J03lvls - 1Ag peJodesd sjuswnoog 110NA0sd W m K w %
3 n.. 0207 'y JoqWIBAON
2 ¥
E . BOVEYON ¢ S
o~ . o II
\\\\ aanoo &zuoar ooc-» /”
\\\&Q\o-ooa.oo-.\ny //ll .
\\\\ s:om /I//
W
=
w g
4 x
o mbw O
5 @ 2
= 5< &
& o o
= i~
1y 0 O
LA
(71
(7]
[7¢]
o
ac
~ QL
L |
<
O
o
&
. >
[2'4
Y @ S e N
) . :
f— . .
= ® IR
('dAL) "aw3
NIW .F/e-1
O
< v r
v - < .
Y .,q N\“.I
. ) Ot
v a&
, . 3 w2
v 9 AA & ” W
T 2 Qg
< w -t P
» . ols
2
.Y . i O
. m E “ %
v A N WW
v . SN
R < .
v

£ 'BMP'SLE26-14\(0202) LE26 T\sBumelq - D\Qd dwielyipay - s100Q 1x3 Buibuims - | £26-14\sjerolddy 1onpoud epLO)S - Y\lusueWISd UOLeqUNQ\SIUBID\Y




*ON] BANVLIINSNOD SNIOUNg MY 0202 O

€186 'ON Ansibey Idad
LBLB'6GO°CLE 'ON euoyd SNOLLOIS SS0d0 A8 SO J1vQ0 [ON]©
SBSET 714 ‘OOUIPA ‘O£Z X°8 O'd \Sv TWINOZI4OH N 7~
WAl SLINVLINSNOD oNIaTing @. IEN3SSY d0 Lavd M= S pelRe
> J(ZON\QQ\ NE 29 5_
0%........:..@&. 2, 60¥SP "ON "I'd NOLYYEGNNGd 2 Bl&le 4
o NORIOTy " L%, PIWYOS "4 uopukq sl 9l BB
© JOIVI8 Q7 g peiodesy muewnoog :10NA0¥d Z w 2135 m [
PN+ e 020¢ 'y JoQWBAON
* T
6OPEYON ¢ =
3 ”
‘. L) ,
&w-ocgzucﬂvc-.) /I/l
Sassen N
\\\\\szum W///l/
Hipggnpnwy
(18]
(24
= m a O Za
025 >
zZ - =
)07 % N
) - =
— Lid
2y > VP b . * 4
N . Iy > ; > -
. .
v S b

LOCK BOX

o o

30

/" 2"\ HORIZONTAL CROSS SECTION
\y Shown w/ Concrete Jamb Anchor

/4

EXTERIOR
INTERIOR

//

e

/"1 HORIZONTAL CROSS SECTION

W Shown w/ Wood Stud Anchor

__,

™ EMB. (TYP.)

VIVY Y YVINI ¥ T YT Y

£'6'Bmp's'L £26-14\(0202) L£26 T\sBuIMeIq - D\Qd dwielpay - siooq 1x3 Bulbuims - | £76-14\s[ercuddy 1anpold BpuolS - Y\iUaUEULIad UOLEqUNA\SIUBHD\Y



R:AClients\Dunbarton Permanent\A - Florida Product Approvals\FL-9231 - Swinging Ext Doors - Rediframe PD\C - Drawings\FL 9231 (2020)\FL-9231.5.dwg, 6.3

FRAME CORNER: WOOD STUD FRAMING
KNOCK DOWN TABS (BY OTHERS)
OR FACE WELDED é = T %=
\ =z =g
(s ¢ O
ANy | N \\
o — ’ *
s N
CONCRETE J('mB)S
JAMB ? - A ?
ANCHORS . -
< & o
<z Y Sy
FRAME/ = g FRAME— Z3
o~ o N d
MASONRY | | st — ! — — f
OPENING
CONCRETE %= CONCRETE %~
o SILL ANCHORS 3= SILL ANCHORS =
e =l o
g : '; .. . l - R \ I ) " T l " P " ‘
12' MAX. O.C. (TYP.) | m?;., 177 MAX, O.C. {TYP.) — | m?; )
FRAME ANCHORING FRAME ANCHORING
Masonry Construction Wood Stud
Concrete Anchors

CONCRETE ANCHOR NOTES:

1. Concrete screw locations af the comers may be adjusted fo maintain a minimum 1" edge distance 1o
mortar joints. If concrete screw locations noted as "MAX. O.C." must be adjusted to maintain the minimum
edge distance to mortar joints, additional concrete screws may be required to ensure the maximum on
center dimension is not exceeded. .

2. Concrete anchor table:

JAMBS 3/&"  |LDT TAPCON® (ITW BUILDEX) 3 1172
CONCRETE
ANCHOR TAPCON® (ITW BUILDEX) . .
SCREW St /4" | yLTRACON+® (DeWALT) 21/2 1-3/4
CONCRETE
. |DYNABOLT SLEEVE ANCHOR®
SLEEVE |  JAMBS 3/8 A/ .
ANGHOR /" | (w REDHEAD) 2-1/4 iz

10.5" ———1—-————»‘

fors)
et

33.19"O.C.
T ey T

HINGE JAMB

4/"
) NS B
——

ooy

i W
Reof

\
W

HINGE DETAIL

“ 11l ’,
MW
RO H.hq’"z
Sk I g,
SA %
:.9: .o.%,/ [+;]
SSy 3 w&V = B
=Xig § g.qm
ECH R T N
=28 5% |Ei5s onn
- o = ..\sg-) -t
a’\\".. .’Q:zng
”, >'-. ...0\\<.ch
2,0 oot GO E58
%, PW\\\ 27 KmZ
v Z owm )
. on o
& ON - 0
B © x2 8
]I € zQ &
Qi EQ@ 7 o
Nla £0 O .cu
:|e O o oo
Nl L D MLom
% R4 m o oL
a8 u |
SEsd
> EQ
213 Buj @%
8 2
o
=
&
5 S
= xI
x 1y 3
MEE
z |5 =
2 |8y
172}
. < &
5 ol
S o
'_
o} b
SIRE:
>._
m
%)
zZ
o
%}
o
\
A\
/'/‘ -
| ‘\@
o
<
o
//‘ y
(7)< O}k’4:> 2
\ Z
[~ oaTE: 10/13/20
\ scate:  N.T.S.
A\Y DWG. BY: RW
CHK. BY: LFS
STRIKE DETAIL DRAWING NO.-
Latch & Deadbolf FL-9231.5
SHEET _6 oF 7

@ 2020 R.W. BUILDING CONSULTANTS [INGC.



RAClients\Dunbarton Permanent\A - Florida Product Approvals\FL-9231 - Swinging Ext Doors - Rediframe PD\C - Drawings\FL 9231 (2020\FL-9231.5.dwg, 7.3

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

B | 2X STUD FRAMING (G>= 0.55) wOOD
C | 1/4" MAX. SHIM SPACE -

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR HOLLOW BLOCK (GROUT FILLED) CONCRETE

CONFORMING TO ASTM C90

H |1/4"X2-1/4" PFH CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL
J | 3/8"X 5" PFH DYNABOLT SLEEVE ANCHOR (SEE CONCRETE ANCHOR TABLE) STEEL
K | 3/8"X5"FH LAG SCREW (2-1/8" MIN. EMBEDMENT) STEEL
M | 3/8"X 5"LDT TAPCON CONCRETE SCREW (SEE CONCRETE ANCHOR TABLE) STEEL
1 HOLLOW METAL FRAME STEEL
5 | ADA THRESHOLD ALUM
7 | WEATHERSTRIP -

8 | DOOR SWEEP -

9 |HINGE4'X 4" STEEL
10 | #12-24 X 1/2" FH MACHINE SCREW STEEL
11 | LATCH STRIKE PLATE STEEL
12 | DEADBOLT STRIKE PLATE STEEL
16 | #8 X 3/4" FH SCREWS STEEL
17 | #12X1"FH SCREWS STEEL
18 | #12X1-1/8"PH SMS STEEL
20 | HINGE REINFORCEMENT (12 GA.) STEEL
30 | EXPANSION ANCHOR BRACKET(18 GA) STEEL
40 | STEEL DOOR PANEL {7'-0" DOOR JELD-WEN) STEEL
41 | STEEL DOOR PANEL {7'-0" DOOR MASONITE) STEEL

i

e !

N %
\\\\ ......... /V/’/,,
\\ &.o. . /’ 0
A B 2
' Sy 3 Ktz B
05‘*1 = SXig 3 E%‘,-&‘m‘n
= L = gg ! * |E&ES=E L.
A b &: Oz =2
. z\}h._ 0"‘.Q(o$ :z; g g ©
8 & 20 T S 5586
2 ’ PRO W 5> " 2
T W2 oo
—, & 8 ~ . B
? = ol ® 0329
NIEE zZ g
&1 £3 o 2w
~ § O = d O
S— 1 | 1.57" —=1 5% Bl
. (3] .
ElE s
575" - SlE §% L§
o8 Ru @<
8 X
HOLLOW METAL FRAME
16 GA. GALV. STEEL
9
SE
o) % i
S E |y <8
o <t 5 =4
z |35 &5
2 |3S8
W\ . < %"3
| 3B
f 4 ! § ‘g
&) ADA THRESHOLD = =
DLP ISHC >
292" i
——t— 075" n .
1 =
)
7]
) Z
/ x
3¢ 1.5
R
L
i <
o o
@
™ O
=z
0.04 ! oATE: 10,/13,/20
— scale:  N.T.S.
DWG. BY: RW
30 EXPANSION ANCHOR CHK. BY: LFS
Bracket DRAWING NO.:
FL—9231.5

SHEET 7 OF 7

© 2020 R.W. BUILDING CONSULTANTS ING.



